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...so also each conic has a "typical” equation form, sometimes. along the lines of the following:

B

. parabola: Ax*+Dx+ Ey=0
circle: 2 =12 + Dy~ Ey ~F=0
ellipse: A+ C)‘z +. [+ Byt F=0
hyperhola: A — C_x'3 + e g E=0

 These equations can be rearranged in various ways, and each conic has its own special form that
T | you'll need to leam to recognize. but some characteristics of the equations above remain unchanged
————— . foreach type of conic. If you keep these consistent characteristics in mind. then you can run through a
* quick check-list to determine what sort of conic is represented by a given quadratic equation.
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